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MpunoxeHue N°3

MowH. 0=0.9652
I'kan/4ac Mouk.
Nn/n HaumeHobaHue (omonn.) ¢ menno- Mkan/uac
nomepsiMu 13% (rBC)
Xunoe odpasobaHue N1(5obHUSHBIT)
1 KomensHaa LPB 0.7905 0.1748 P PPV
2 |KomensHas llemckozo doMa 0.47742 0.1049
3 KomensHas POBA 0.056 0.014
4 KomensHas POBA 0.076 0.019
5 KomensHas d/cada 0.064 0.016
Sa |MpoM. komensHas M Kpaul30 033 0.047
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(cyw. Buixod U3 KomenbHol)
mozo: \_.NCO.N qum.w
z 2.1664
z
= Xunoe odpasobaHue N°2(ueHmpanbHbID)
6 KomensHas LIK Hobas 1.009 0.305
7 KomenbHasa LUK cmapas 0.605 0.134
8 KomenbHas npousbodcmba BIK 0.237 0.052
9 KomensHas no yn. lemcmba 13446 0.297
=
g
Mmozo: 3.1962 0.788
3.9839
Xunoe odpasobarue N'3(ATN)
10 |KomensHas d/cada /NX 0523 0.117
11 |KomensHad MY-83 0.078 0.019 0=2.227
L=360
12 |KomenbHad MY-83 0.098 0.024 Q=0.4373 su@z
L=143
13  |KomenbHas AT 12 0.16 #=100
0=2.105
14 |KomenbHas wkonsl N°2 0.3583 0.079 L=130m
13% N1 #=159
_._._mj\._ODO_._._m_uC (] O\_ONw — 0=0.4373 0=0.122
L=143 Q=0.7451 N1
Mmozo: 2.2654 0.399 $=100 =143 0=0.097
$=159
26644 T
8.8147 N12 $=57
0=0.122 0=0.6481
N3 L=330m
Q=136 #=159
0=136
L=172M N0
$=125 0=06481
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Bapuanm N3
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